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Y=240 (dx=nan, do=nan)

f=1304, X=4036.9

Y=481 (dx=nan, do=nan)

Y=722 (dx=-2.8e-01, do=nan)

pfsArm pfsArm pfsArm
=== (x=nan, o=nan) === (x=nan, o=nan) = (x=4040.07, 0=1.34)
calExp calExp _ calExp
= (x=4046.08, 0=1.98) T = (x=4043.90, 0=1.84) = (x=4039.79, o=nan)
s Residual*s m— Residual*s m—Residual*5
= Trace == Trace == Trace
T T T T T
Y=1204 (dx=nan, do=nan) Y=1445 (dx=-2.3e-01, do=9.0e-01) Y=1686 (dx=-1.9e-01, do=1.3e+00)
pfsArm 7 pfsArm 1 pfsArm
=== (x=nan, o=nan) = (x=4034.48, 0=1.09) | =™ (x=4033.50,0=0.82)
calExp calExp [l calExp
= (x=4036.54, 0=2.04) i 1 = (x=4034.26, 0=2.00) L = (x=4033.31, 0=2.14)
= Residual*5 e Residual*5 7 I = Residual*5
- Trace - Trace | - Trace
e 1
- . | I
1
- —— —— — -, - - — I F—'
T T T T T T T T T
Y=2168 (dx=4.2e-02, do=9.6e-01) Y=2409 (dx=1.3e+00, do=-5.4e-01) =2650 (dx=-7.7e-02, do=9.9e-01)

44+ ¥

pfsArm
= (x=4031.95, 0=1.04)

calExp
= (x=4031.88, 0=2.03)

e Residual*s
== Trace

Y=3614 (dx=7.5e+00, do=nan)

I pfsArm — I pfsArm
I|] ™ (x=4032.01,0=1.03) 1 == (x=4030.37, 0=1.16) i
1 calExp 1 calExp
= (x=4032.05, 0=1.99) u L ™ (x=4031.64, 0=0.62)
I = Residual*5 N I == Residual*5
1 - Trace ] - Trace
1 1 .
1 -
1
4. | ..I.__r’._,,.r:\_ _.--...-._.I..J_ 4 44
L T T 1 T
Y=3132 (dx=1.5e+00, do=5.8e-01) Y=3373 (dx=-7.9e-01, do=1.1e+00)
i | pfsArm - pfsArm 7]
B = (x=4033.33,0=1.03) = (x=4034.76, 0=0.82)
| calExp calExp
= (x=4034.85, 0=1.61) = (x=4033.96, 0=1.95)
I = Residual*5 T = Residual*5
| - Trace - Trace a
|
I -
: i
4= - -1-TjF;:L__- 144 - - i
I |59

It

J' -

pfsArm
== (x=4036.39, 0=1.12)

calExp
=== (x=4043.90, 0=nan)
e Residual*s
= Trace
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L

Y=963 (dx=-5.8e-01, do=nan)

pfsArm
- === (x=4039.12, o=nan)
calExp
= (x=4038.54, 0=2.33)
— Residual*s
== Trace

i
r I T
Y=1927 (dx=-4.7e-01, do=1.2e+00)

pfsArm
= (x=4032.71, 0=0.71)
calExp
= (x=4032.23, 0=1.96)
e Residual*5
= Trace

IJ(

Y=2891 (dx=-7.8e-01, do=1.5e+00)

calEx|
= (x=4031.87, 0=2.14)

e Residual*5
== Trace

pfsArm
= (x=4032.64, 0=0.69)

SN

Y=3855 (dx=2.6e-01, do=3.3e-01)

pfsArm
= (x=4038.75, 0=1.11)

calExp
= (x=4039.01, 0=1.44)
m— Residual*s
= Trace
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Y=240 (dx=nan, do=nan)

f=1305, X=4030.7

Y=481 (dx=nan, do=nan)

pfsArm
=== (x=nan, o=nan)

calExp
= (x=4039.39, 0=2.72)
e Residual*s
= Trace

-1 = (x=4036.79, 0=1.03)

pfsArm
=== (x=nan, g=nan)

calExp

w——Residual*5
== Trace

Y=1204 (dx=2.8e+00, do=8.9e-01)

Y=1445 (dx=-1.7e+00, do=-6.5e-01)

pfsArm
(x=4027.00, 0=0.00)

calExp
= (x=4029.83, 0=0.89)

e Residual*5
= Trace

1

pfsArm
= (x=4030.08, 0=127)

calExp
= (x=4028.39, 0=0.63)

= Residual*5
w= | Trace

I ——

Y=2168 (dx=-4.8e-02, do=nan)

Y=2409 (dx=1.8e-01, d0=-3.3é-01)

m—(x=4025.72, 0=nan)
e Residual*5
= Trace

I pfsArm pfsArm I
1 = (x=4025.77, 0=1.07) == (x=4025.56, 0=1.10) 1
calExp calEx|

m—(x=4025.74, 0=0.77)
e Residual*5
w— Trace

Y=3132 (dx=2.0e-02, do=nan)

'Y=3373 (dx=4.6e-01, do=nan) '

pfsArm
== (x=4027.09, 9=1.06)

calExp
= (x=4027.11, 0=nan)

= Residual*5

pfsArm
= (x=4028.40, 0=1.06)

calExp
= (x=4028.87, g=nan)
e Residual*5
= Trace

4020 4030 4040

4020 4030 4040

Y=722 (dx=5.0e-02, do=-6.9e-02)

Y=963 (dx=1.1e-02, do=-1.4e-01)

T pfsArm
| ™ (x=4034.10,0=1.11)

1 calExp
= (x=4034.15, 0=1.04)

= Residual*5
== Trace

pfsArm
1 == (x=4031.76, 0=1.10)

1 calExp
= (x=4031.77, 0=0.96)

e Residual*5
== Trace

1
Y=1686 (dx=8.2e-01, do=nan)
I fsArm
| ™ (x=4027.13, 0=1.09)

calExp
= (x=4027.95, 0=nan)
= Residual*5

== Trace

L

m
Y=1927 (dx=1.7e-01, do=nan)
I fsArm
| ™ (x=4026.31, 0=1.08)

calExp
= (x=4026.47, 0=nan)
e Residual*5

== Trace

Y=2650 (dx=-3.9e-01, do=nan)

pfsArm
1 = (x=4025.72, 0=1.06)

calEx|
= (x=4025.33, g=nan)

e Residual*s
= Trace
1

T LJ

! 1h -~

T T T !
Y=2891 (dx=-3.7e-02, do=nan)
I pfsArm
| ™ (x=402622,0=1.07)
1 calExp

= (x=4026.18, g=nan)
e Residual*5
== Trace

Ho

Y=3614 (dx=4.2e-02, do=nan)

Y=3855 (dx=9.3e-02, do=1.1e-01)

calExp
| ™= (x=4030.27, o=nan)

pfsArm
m—(x=4030.23, 0=1.08) 1

e Residual*5
= Trace

AL (10

= Trace

pfsArm T
= (x=4032.58, 0=1.08) 1

calExp
= (x=4032.68, 0=1.19)
= Residual*5
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Y=240 (dx=nan, do=nan)

f=1306, X=4024.4

Y=481 (dx=nan, do=nan)

pfsArm
=== (x=nan, o=nan)

calExp
= (x=4034.11, 0=1.99)
— Residual*s

w | Trace

pfsArm
=== (x=nan, o=nan)

calExp
- (x= 4028 61, 0=1.80)
m— Residual*5
== Trace

Y=1204 (dx=2.1e+00, do=9.6e-01)

Y=1445 (dx=-2.9e+00, do=2.2e+00

)

pfsArm
= (x=4020.70, 0=1.26)
calExp
= (x=4022.82, 0=222)
= Residual*5
- Trace

S —

—

pfsArm
= (x=4025.00, 0=0.00)

calEx
_(x= 4022 13, 0=2.18)

= Residual*5
= Trace

Y=2168 (dx=-5.2e-01, do=9.8e-01)

Y=2409 (dx=2.8e-01, do=nan)

u o PfsA™ ~ o pfsAm - I
(Cal_;(:e.u, =1.13) ial-;ow.zz, =1.10) 1 -"l_
- (x=4018.89, 0=2.11) m—(x=4019.60, o=nan)
- w—— Residual*5 w— Residual*5
= Trace =] == Trace
- - e - i 2 =
M4 L=
1
Y=3132 (dx=5.8e-01, do=9.5e-01) Y=3373 (dx=-1.5e-01, do=1.1e+00)

pfsArm
= (x=4020.72, 0=1.01)
calExp
m—(x=4021.30, 0=1.96)

= Residual*5
= Trace

pfsArm
= (x=4022.03, 0=1.06)
calExp
- (x= 2021, 88, 0=2.16)
= Residual*5
= Trace
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T ___

4020

4030
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4020

7| == Residual*5

(A1

Y=722 (dx=-9.3e-02, do=-2.5e-01)

Y=963 (dx=-3.0e+00, do=1.7e+00)

Y=2650 (dx=-4. Te- 01, do=9.7e-01)

R

pfsAs

r— lx=4019,38, o0=1.11)
calExp

m—(x=4018.91, 0=2.08)

== Trace

Y=3614 (dx=-3.8e

+00, do=nan)

pfsArm '
= (x=4027.11, 0=nan) 1
calExp |

— (x=4023.34, 0=154)
—| === Residual*5 I
- Trace 1
1
1
1
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4030

T pfsArm
1 = (x=4027.89, 0=121)
1 calExp
== (x=4027.79, 0=0.96) .
= gl m (x 4026 83, 0=0.97)
== Trace
1= (x=4023‘83, 0=2.63)
—Residual*s 1L
= Trace
-
-I H 1 -I -
- - - e o e -
dlq [11 Mlinuar
Y=1686 (dx=9.1e-01, do=9.8e-01) Y=1927 (dx=-2.6e-01, do=9.4e-01)
1 fsA 1 T pf;Arm I
m (x 4020.80, 0=1.04) = (x=4019.95, 0=1.05) 1
calExp 1
™ (x=4021,71, 0=2.02) - | ™ (x=4019.69, 0=1.99)
== Residual*5 == Residual*5 I
= Trace = Trace 1
|
|
1
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r 1
T
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N+
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= (x=4019.81, 0=0.97)

calEx|
—(x=4020.02, 0=2.16)
= Residual*s
= Trace
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= (x=402627, 0=1.10)

calExp
= (x=4025.98, 0=1.84)
= Residual*s
= Trace

4040 4010

4020

4030

4040



3000

- 2000

1000

—1000

—3000 = T
4010 4020

Residual

X (pix)

f=1307, X=4018.1

- 500

T
o

L

- —500

—1000

—1500

—2000
4010

4020

T

L

Shift measure

200
Chi+ - Chi-

Chi at each row

4000

3500

3000

2500

2000

1500

1000

500



Y=240 (dx=nan, do=nan)

f=1307, X=4018.1

Y=481 (dx=nan, do=nan)

pfsArm
=== (x=nan, o=nan)

calExp
= = (x=4028.18, 0=1.95) -1
— Residual*s
w | Trace

pfsArm
== (x=nan,

calExp
- (x=4023,

e Residual*5

== Trace

o=nan)

.40, 0=2.39)

Y=1445 (dx=2.4e+00, do=2.0e+00)

Y=1204 (dx=-6.2e-01, do=9.0e-01)

[N

pfsArm
= (x=4017.32, 0=1.14)

calExp
= (x=4016.70, 0=2.04) T
= Residual*5

pfsArm
== (x=4013.00, 0=0.00)

calExp
= (x=4015.43, 0=2.03)
= Residual*5

w— Trace

Y=2168 (dx=4.4e-02, do=1.0e+00)

Y=2409 (dx=3.9e-01, do=nan)

pfsArm

pfsArm
I} == (x=401329, 0=112) = (x=4013.14, 0=1.10) -
[l calExp calEx
= (x=4013.33, 0=2.11) == (x=4013.53, o=nan)
I e Residual*5 = Residual*5 ™
| = Tace - = Tace | A
-
I
1 -
1 - B
| P 1 -
ATt rr-rrT = - 1 - -
T T T T r r I- r
Y=3132 (dx=-5.1e-01, do=9.2e-01) Y=3373 (dx=2.3e-01, do=9.3e-01)
Tl [ IO
1
pfsArm pfsArm
1
= (x=4014.54, 0=1.13) == (x=4015.89, 0=1.10) 1
calExp -1 calExp
m—(x=4014.03, 0=2.05) == (x=4016.12, 0=2.03) 1
— Residual*s — Residuals 1
== Trace = Trace l
Vbt | 1
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T T
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== Trace
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pfsArm T
= (x=4021.47, 0=1.26) 1
calExp 1
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.

L
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| [=}
pfsArm

m—(x=4014.60, 0=1.19)
calExp

= (x=4013.97, 0=2.09)

= Residual*5

= Trace

1_ -|

Y=265

0 (dx=-2.7e-01, do=9.0e-01)

P

= Residu
= Trace

fSArm
= (x=4013.24, 0=1.11)

calExp
= (x=4012.96, 0=2.00)

(-t
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al*5

4e+00)

= Residu
| = Trace

pfsArm
= (x=4014.66, 0=0.47)

calExp
= (x=4017.43, 0=1.86)

al*5

4020

4030

Y=963 (dx=-3.1e-01, do=1.2e+00)

pfsArm
= (x=4019.25, 0=1.12)

calExp

= (x=4018.94, 0=227)
m— Residual*5
== Trace

Y=1927 (dx=2.9e-01, do=9.1e-01)

pfsArm
= (x=4013.86, 0=1.13)

calExp
m—(x=4014.15, 0=2.04)
e Residual*5

w—  Trace
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= (x=4013.75, 0=1.13)

calExp
= (x=4014.28, 0=2.09)
== Residual*5
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calExp
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== Trace
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f=1308, X=4012.0

Y=240 (dx=nan, do=nan) Y=481 (dx=nan, do=nan) Y=722 (dx=5.8e-02, do=-2.6e-01) Y=963 (dx=-1.3e-01, do=1.3e+00)
pfsArm pfsArm T pfsArm pfsArm
=== (x=nan, o=nan) === (x=nan, o=nan) - I ™ (x=4015.36, 0=1.16) = (x=4013.00, 0=125)
calExp calExp 1 calExp . calExj ”
_ = 4020 99, 0=1.99) T = (x=4020.94, 0=nan) = (x=4015.41, 0=0.89) - (x= 4012 88, 0=2.56)
— Residual*s — Residual*s — Residual*s — Residual*s
= Trace = Trace == Trace == Trace
T T | T | T T 1 T T |
Y=1204 (dx=3.3e-02, do=9.9e-01) Y=1445 (dx=2.0e+00, do=5.5e-01) Y=1686 (dx=-4.3e-01, do=1.0e+00) Y=1927 (dx=3.1e-01, do=8.3e-01)
——r T — —r - =
pfsArm pfsArm pfsArm
= (x=4011.15, 0=1.14) 1 = (x=4008.44, 0=1.53) 7 == (x=4008.46, 0=1.14)
” calExp 1 calExp ” calExp ” ” |
= (x=4011.19, 0=2.13) = (x=4010.39, 0=2.07) = (x=4008.03, 0=2.18)
m— Residual*5 . 1 m— Residual*s m— Residual*S e PFSArM
- Trace 1 = Trace = Trace . (x=400f .69, 0=1.14}
1 - — calExp
(x=4008.00, 0=1.97)
1 —Residual*s
1 = Trace
et e — — e e ——— - - — — --—I- - - e - — — e e e - - - — . — — — — e
T
| o
T T

L
Y=2168 (dx=-3.4e-01, do=8.5e-01) Y=2409 (dx=-1.4e+00, do=4.0e+00) Y=2650 ('dx=-2.4e-c'>1, do=9.1e-01) Y=2891 (dx=-3.9e-01, do=7.6e-01)

“ — Bbron om0 111 ¢ |_| U
— calExp T
m— (x=4005.63, 0=5.15)

o pfsAm — Residual*s — —_—

(x=4007.12, 0=1.11) - - Trice — lx 4007 06, 0=1.11) (X 4007.51, 0=1.11)
r— fflj(gos.w, 0=1.96) - e (x=4gos.sz, 0=2.01) -1 r— lx:4007.12, 0=1.88)
w— Residual*5 u - e Residual*5 w— Residual*5
= Trace H = Trace | k ] Trace

=3132 (dx=-3.9e-01, do=9.7e-01) Y=3373 (dx=4.0e-01, do=8.2e-01) Y=3614 (dx=1.2e+00, do=2.9e-01) Y=3855 (dx=1.3e+00, do=7.3e-01)

prsArm - L
= (x=4009.23, 0=1.47) = (x 4013 80, 0=1.10)

calExp
= (x=4010.47, 0=1.77) ™7 (x 4015 07, 0= 1s3|
e Residual*s | === Residual*5 -
= Trace = Trace = Trace = Trace

T oA pfSAIM T
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f=1309, X=4005.8

Y=240 (dx=nan, do=nan) Y=481 (dx=nan, do=nan) Y=722 (dx=9.8e-03, do=-2.0e-01) Y=963 (dx=-8.0e-01, do=1.0e+00)

pfsArm pfsArm T pfsArm - pfsArm T ” I—
== (x=nan, g=nan) === (x=nan, g=nan) I = (x=4009.12, 0=1.14) = (x=4006.81, 0=1.13) 1
— calExp . calExp 1 — calExp o calExp 1
(x=4014.93, 0=1.97) -1 (x=4011.56, 0=2.23) I (x=4009.13, 0=0.94) (x=4006.00, 0=2.13) I

= Residual*5 e Residual*5 = Residual*s mm== Residual*s

= Trace w Trace = Trace n w  Trace l
. . I
|
1

] - - — e e e — ] e -
T T
1

1204 (dx=-1.8e-01, do=1.1e+00) Y=1445 (dx=-2.8e-01, do=9.4e-01) Y=1686 (dx=-3.6e-01, do=1.3e+00) =1927 (dx=-4.9e-01, do=9.0e-01)

pfsArm - pfsArm pfsArm
= (x=4004.94, 0=1.14) = (x=4003.37, 0=1.13) == (x=4002.30, 0=1.06)
calExp calExp calExp
= (x=4004.76, 0=2.27) = (x=4003.09, 0=2.07) . = (x=4001.94, 0=2.36)
m— Residual*s - m— Residual*s m— Residual*S e PfSATM
(x=4001.40, 0=1.14)
= Trace = Trace = Trace -
calExp

J

= (x=4000.91, 0=2.05)
e Residual*5
= Trace

13 0 0 | - S o 8 0 0 1 A - H-H -1

=2168 (dx=2.4e-01, do=9.4e-01) Y=2409 (dx=4.0e-01, do=1.1e+00) Y=2650 (dx=2.9e-01, do=9.2e-01) =2891 (dx=-2.8e-01, do=9.4e-01)

I - pfsArm - - pfsArm
1 = (x=4000.67, 0=1.06) = (x=4001.29, 0=1.11)
. 1 calExp calExp
: = (x=4001.08, 0=2.18) == (x=4001.00, 0=2.04)
pfsArm i pfsArm — i
== (x=4000.91, 0=1.11) - : ire:clgual*s == (x=4000.84, 0=1.10) : ?:C'Zual*s
calExp -1 -1 calExp
— (=2001.14, 0=2.05) — (X=4001.13, 0=2.02)
m— Residual*s m— Residual*s T
= Trace = Trace
i __|..}__ - 4- {k- L1 Hd- {H4H-4-LE_H--144- JHHH=-d -4 kL4
1
T T T T T T T T
=3132 (dx=-3.3e-01, do=9.8e-01) Y=3373 (dx=-5.9e-01, do=9.4e-01) Y=3614 (dx=-1.8e-01, do=9.3e-01) Y=3855 (dx=-1.9e+01, do=nan)
1=} - T
pfsArm pfsArm pfsArm
| | == (x=4003.39, 0=1.10) i l_l B | = (x=4005.16, 0=1.08) I | = (x=4007.37, 0=1.16)
calExp calExp calExp
I = (x=4002.80, 0=2.05) I = (x=4004.99, 0=2.01) N I — (x=3988.44, o=nan)
I e PIRATT 1 i = Residual*s N )= resiouars I Resiauars
1 (x=4002.11, 0=1.11) - Trace B | = Tace I |[= Trace
IExp
I = (c:=4001.79 0=2.09) 1 I - 1
)| = Residual*s I 1
| = e [ i !
M- A JHYSHEH LYl
| 1
T T T
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f=1310, X=3999.6

Y=240 (dx=nan, do=nan) Y=481 (dx=nan, do=nan) Y=722 (dx=5.1e-02, do=-1.7e-01) Y=963 (dx=4.2e-01, do=1.0e+00)
pfsArm pfsArm pfsArm T = pfsArm
=== (x=nan, o=nan) == (x=nan, o=nan) = (x=4002.85, 0=1:16) 1 = (x=4000.79, 0=0.63)
calExp calExp T calExp 1 calExp
-1 = (x=4009.62, 0=1.89) -1 = (x=4005.92, 0=2.88) = (x=4002.90, 0=0.99) = (x=4001.21, 0=1.66)
s Residual*s s Residual*s —_ Residual*5 — Residual*s
= Trace == Trace == Trace _ == Trace
T T T T T T T T T T T n T r
Y=1204 (dx=6.8e-01, do=1.2e+00) Y=1445 (dx=-2.4e-01, do=1.0e+00) Y=1686 (dx=2.1e+00, do=3.0e+00) Y=1927 (dx=-1.5e-01, do=9.8e-01)
1 'pfs/-\rm 1] _ 1 'pfsArm B 1 'pfsArm 1 1 pf;Arm 1
= (x=3998.82, 0=0.99) - = (x=3997.25, 0=1.01) ) I- (] = (x=3995.87, 0=1.20) B =™ x=399522,0=1.07)
_ I- calExp = calExp 1 calExp [l calExp
= (x=3999.50, 0=2.19) = (x=3997.00, 0=2.02) 4 H U = (x=3997.98, 0=4.18) L = (x=3995.07, 0=2.05)
== Residual*5 = Residual*5 B = Residual*5 I = Residual*5
- Trace - Trace - Trace - | - Trace
4 | [
1
L B I
1 FH-tFHAT T~ __I'___ [ 4H4q--H--== 4 H-¥ +H=H i B [ O R
T T 1 T T rrr'-:-— T e r T T T
Y=2168 (dx=3.4e-01, do=9.4e-01) Y=2409 (dx=-4.3e-01, do=9.9e-01) Y=2650 (dx=5.3e-01, do=9.7e-01) Y=2891 (dx=-3.1e-02, do=1.0e+00)
pfsArm ” ” L pfsArm pfsArm } “ ” pfsArm
= (x=3994.69, 0=1.11) = (x=3994.49, 0=1.03) = (x=3994.63, 0=1.13) = (x=3995.07, 0=1.07)
N calExp i calExp T calExp calExp
= (x=3995.03, 0=2.05) L = (x=3994.06, 0=2.02) = (x=3995.15, 0=2.10) -1 _ = (x=3995.04, 0=2.08)
e Residual*5 = Residual*5 == Residual*5 e Residual*5
- Trace - Trace - Trace - Trace
- - 1rrT-—1-r—-Tr- Bl .k e -— - - =11 1F- 11T - -
T T T T - T T T T T T T T T
Y=3132 (dx=8.4e-01, do=5.4e-01) Y=3373 (dx=-8.3e-02, do=9.8e-01) Y=3614 (dx=-1.8e-02, do=9.6e-01) =3855 (dx=-3.9e-01, do=3.8e-01)
pfsArm - pfsArm - pfsArm
(] m—(x=3995.88, 0=1.08) 1 m—(x=3997.16, 0=1.07) | m—(x=4001.20, 0=1.05)
| calExp | calExp N | calExp.
= (x=3996.72, 0=1.62) = (x=3997.07, 0=2.05) L = (x=4000.80, 0=1.44)
- | w— Residual*5 T I e Residual*s — PSAIM I e Residual*5
(] - Trace | - Trace {x=3938.9% p=10 | - Trace
i = I — (c:fxggsso, 0=2.05) - |
I ] I — Residual*s |
1 1 - Trace I
- — — - --II-- — — - — — - I — — — - — — o e ——— - A bl dnd ol I — —
I
T T = T T
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Y=240 (dx=nan, do=nan)

f=1311, X=3993.4

Y=481 (dx=nan, do=nan)

Y=722 (dx=1.8e-02, do=-1.1e-01)

pfsArm
=== (x=nan, o=nan)

calExp
T === (x=4003.11, o=nan)
wm—Residual*5

== Trace

pfsArm
=== (x=nan, o=nan)
calExp
— (x=3999.72, 0=0.84)
e Residual*5
== Trace

T pfsArm
1 = (x=3996.71, 0=1.13)
1 calExp

= (x=3996.73, 0=1.02)
m— Residual*s
== Trace

Y=1204 (dx=5.2e-02, do=-6.4e-01)

Y=1445 (dx=1.2e-02, do=nan)

Y=1686 (dx=-1.1e-01, do=nan)

. T pfsArm
| ™ (x=3992.48,0=1.11)

calExp
= (x=3992.53, 0=0.48)
= Residual*5
- = Trace

T pfsArm
| ™ (x=3991.00, 0=1.09)

calExp
= (x=3991.01, o=nan)
e Residual*5

I fsArm
1 = (x=3989.85, 0=1.10)
calExp
= (x=3989.74, g=nan)
= Residual*5
= Trace

ni ar

Y=2650 (dx=9.5€-01, do=3.0e+00)

calExp
= (x=3991.31, o=nan)
e Residual*5

- = Trace

| 1

Y=2168 (dx=2.8e+00, do=nan) Y=2409 (dx=6.4e+00, do=nan)
I pfsArm pfsArm I
= (x=3988.51, 0=1.04) = (x=3988.32, 0=1.04) 1
calEx|

(x=3994.69, o=nan)
mem= Residual*5
w— Trace

I}

'\-‘

pfsArm
= (x=3988.44, 0=1.01)

calExp
(x=3989.39, 0=3.99)

e Residual*s

== Trace

I

[l 1

Y=3132 (dx=1.1e+00, do=3.0e+00)

dor HA UL 1]
£hr LArle
Y=3373 (dx=6.6e-01, do=2.7e+00)

Y=3614 (dx=3.9e-01, do=3.5e+00)

pfsArm
= (x=3989.52, 0=0.73)

calExp
= (x=3990.61, 0=3.73)
e Residual*5
w | Trace

) . ¥ - =

I n 17

pfsArm
= (x=3990.94, 0=0.99)

| :

calExp
= (x=3991.61, 0=3.70)

I e Residual*5
w Trace
I
I
I
] —— - — -
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pfsArm
— (x=3992.67, 0=0.99)

calExp

(x=3993.06, 0=4.53)
e Residual*s
== Trace

11

TIATIr

3980 3990

4000

Y=963 (dx=1.2e-01, do=-4.7e-01)

| == Trace

pfsArm T
= (x=3994.38, 0=1.09) 1
calExp 1

= (x=3994.50, 0=0.62)
m— Residual*s

I pfsArm
| ™ (x=3989.03, 0=1.06)
1 calExp

= (x=3988.44, g=nan)
I = Residual*5

w= Trace

1)

I

B

Y=2891 (dx=-1.3e+00, do=nan

=

pfsArm
= (x=3988.86, 0=1.04)

calEx|
(x=3987.57, o=nan)

e Residual*5 I

1
1
1
- Trace L
1
1
1
1

-

1 et

Y=3855 (dx=-1.1e+00, do=-4.9e-01)

7| === Residual*5

U

pfsArm
(x=3994.96, 0=1.04)
calExp

= (x=3993.87, 0=0.55)

== Trace ™
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f=1312, X=3987.1

Y=240 (dx=nan, do=nan) Y=481 (dx=2.1e+00, do=2.1e+00) Y=722 (dx=1.4e-01, do=-1.7e-01) Y=963 (dx=-1.5e-03, do=1.6e+00)

pfsArm pfsArm - pfsArm pfsArm
=== (x=nan, o=nan) = (x=3990.40, 0=0.49) | ™ (x=3990.34, 0=1.18) == (x=3987.86, 0=0.76)
calExp calExp 1 calExp calExp
- (x= 3996 00, 0=2.26) _ = (x=3992.52, 0=2.59) _-(x= 3990 47, 0=1.00) - (= 3987 86, 0=2.32)
e Residual*s wm—_ Residual*5 e Residual*5 we Residual*s
= Trace == Trace == Trace 1 == Trace
T T T T T T T T U T
Y=1204 (dx=3.7e-01, do=nan) Y=1445 (dx=-5.9e-02, do=1.0e+00) Y=1686 (dx=1.2e+00, do=nan) Y=1927 (dx=8.4e-02, do=9.2e-01)
i pfsArm i pfsArm 1 B I i pfsA-rm H pf;A-rm' 1
| = (x=3986.16, 0=1.22) = (x=3984.62, 0=0.99) | =™ (x=3983.48,0=121) = (x=3982.70, 0=1.07)
1 calExp calExp 1 - — calExp calExp
= (x=3986.53, 0=nan) = (x=3984.56, 0=2.00) ] i | o ™ (x=3984.63, 0=nan) = (x=3982.79, 0=1.99)
mmm Residual*5 = Residual*5 wmm= Residual*5 == Residual*5
=== Trace == Trace .I- == Trace — == Trace
].r I || 4
- --T 1 - = — --r---—- - - - - - - - e e -.r - e e e - -
T = T T T T I T T T = T T
Y=2168 (dx=-1.4e-01, do=1.0e+00) Y=2409 (dx=-9.9e-02, do=1.0e+00) Y=2650 (dx—-2 4e-01, do=9.5e- 01) Y=2891 (dx=2.9e-01, do=9.8e-01)
pfsArm - pfsArm - pfsArm pfsArm
I = (x=3982.18, 0=1.07) == (x=3981.98, 0=1.08) I = (x=3982.09, 0=1.08) = (x=3982.52, 0=1.02)
[ calExp. calExp | calExp calExp
= (x=3982.04, 0=2.10) | = (x=3981.88, 0=2.08) = (x=3981.85, 0=2.03) = (x=3982.81, 0=2.00)
I e Residual*5 7 e Residual*5 I e Residual*s = Residual*5
| - Trace - Trace | - Trace - Trace
[ I )
| T 1 1
| 1
b ol e o o e I— - - - el el - - - - — ] - - - - e e e e e - —
A I [
T T T T T T T T
Y=3132 (dx=-4.2e-01, do=9.5e-01) Y=3373 (dx=1.2e-01, do=9.6e-01) =3614 (dx=-3.8e-01, do=9.6e-01) Y=3855 (dx=4.4e-01, do=6.8e-01)
pfsArm pfsArm T pfsArm pfsArm
= (x=3983.35, 0=1.09) == (x=3984.61, 0=1.06) I = (x=3986.33, 0=1.09) = (x=3988.57, 0=0.99)
calExp calExp | - calExp calExp
= (x=3982.93, 0=2.04) = (x=3984.73, 0=2.01) 1 = (x=3985.96, 0=2.05) - L™ (x=3989.00, 0=1.67)
= Residual*5 - mmm Residual*s I e Residual*5 e Residual*5
- Trace - Trace I||= Tace - Trace
4 1 i
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o e o e — - Bl X ek ah - - B 1 X - | - - - o e e e e = e -
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Y=240 (dx=nan, do=nan)

Y=481 (dx=1.3e+00, do=1.2e+00)

f=1313, X=3980.9

Y=722 (dx=1.1e-01, do=-1.9e-01)

pfsArm
=== (x=nan, o=nan)

calExp
_(x= 3990 47, 0=1.79)
— Residual*5

= Trace

By

rm
= (x=3985.51, 0=1.71)

C
= (x=3986.82, 0=2.94)
m— Residual*s
== Trace

T T

pfsAi
alExp
idual*
-

pfsArm

| = x=3984.16, 0=1.16)
calExp

= (x=3984.27, 0=0.97)

— Residual*s

== Trace

Y= 1204(dx—-18e 01, do= nan)

(dx=-4.8e-01, do=

.6e+00) Y=1686 (dx=2.2e+00, do=nan)

fSArm
| — 023970.99, 0=1.17)

calExp
= (x=3979.81, o=nan)
= Residual*5

= Trace

pfsArm
(x=3978.79, 0=0.

b calExp

= (x=3978.32, 0=2

wmm_ Residual*5

B == Trace

|'...__.|.|_| -

I T pfsArm
= (x=3977.31, 0=121)
calExp
= (x=3979.48, o=nan)
s . e Residual*5
.64) w= Trace
21)
-
=
k - I:
- - e = =
r

1 o

do=9.7e-01) Y=2650 (dx=-9.1e-03, do=1.0e+00)

Y=963 (dx=1.7e-01, do=1.6e+00)

pfsArm

T (x=3982.16, 0=072)

calExp
= (x=3982.32, 0=2.33)
= Residual*5

= Trace

T

Y=1927

(dx=4.0e-01, do=9.2e-01)

pfsArm
= (x=3976.64, 0=1.14)

calExp
= (x=3977.04, 0=2.05)
e Residual*5

pfsArm
= (x=3976.00, 0=1.07)

calExp
= (x=3975.99, 0=2.12)

e Residual*s
= Trace

Y=3614 (dx=-7.3e-02, do=1.0e+00)

= Trace
=2891 (dx=-3.8e-01, do=9.7e-01)
e 1x arg;s 44, 0=1.03) i
™1 lx:3976.06, 0=1.99) ]
= Residual*5
- Trace
T T T

T T T
Y=2168 (dx=6.2e-02, do=1.4e+00) Y=2409 (dx=2.2e-01,
pfsArm
m—(x=3975.88, 0=1.10)
T T =2
= (x=3976.10, 0=2.07)
o PfSAM m— Residual*5
(x=3976.21, 0=0.96) = Trace T
calExp
= (x=3976.28, 0=2.40)
= Residualts
w | Trace
{4 SLHL TR R O
T T T T T
Y=3132 (dx=-3.3e-01, do=1.1e+00) Y=3373 (dx=-4.2e-01, do=9.0e-01)
T pfsArm
| - (x 3977 25, 0=1.05) = (x=3978.47, 0=1.05)
I — lx 3976 92, 0=2.18) = (c:|=E3x9p78.06, 0=1.95)
I e Residual*5 = Residual*5
1 - Trace - Trace 1
|
I et
1
- — - — II — - — - — —
L
1

™7 (x 3930 19, 0=1.07)

- (x 3980 12, 0=2.10)
= Residual*s
= Trace
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pfsArm
=== (x=3982.88, o=nan)

calExp
- x= 3931 09, 0=2.52)
m— Residual*5
== Trace
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f=1314, X=3974.6

Y=240 (dx=nan, do=nan) Y=481 (dx=-3.8e-01, do=nan) Y=722 (dx=4.4e-02, do=-1.1e-01) Y=963 (dx=-2.4e-02, do=-3.6e-01)
pfsArm pfsArm -1 T pfsArm T pfsArm
=== (x=nan, o=nan) = (x=3980.71, 0=1.11) 1 = (x=3977.95, 0=1.13) 1 = (x=3975.68, 0=1.11)
calExp calExp 1 calExp 1 calExp
= (x=3984.30, 0=2.01) — == (x=3980.33, o=nan) = (x=3978.00, 0=1.02) = (x=3975.65, 0=0.74)
— Residual*s — Residual*5 1 m— Residual*s m— Residual*5
= Trace = Trace = Trace T = Trace

1 |
1
] b
- u - -
T T T T ILJ— T T = I T T T T T L I T
Y=1204 (dx=-5.4e-02, do=-2.7e-01) Y=1445 (dx=1.4e-01, do=nan) Y=1686 (dx=-3.0e-01, do=nan) Y=1927 (dx=6.0e-01, do=nan)
T pfsArm T fSArm - T pfsArm pfsArm T
1 = (x=3973.81, 0=1.12) | = (x=3972.32,0=1.10) | = x=3971.17,0=1.12) = (x=3970.37, 0=1.07) 1
calExp calExp 1 calExp calExp
= (x=3973.76, 0=0.85) - = (x=3972.46, o=nan) = (x=3970.87, o=nan) = =™ (x=3970.97, o=nan)
= Residual*5 = Residual*5 = Residual*5 = Residual*5
= Trace = Trace = Trace = Trace
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Y=240 (dx=nan, do=nan)
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Y=240 (dx=nan, do=nan)

f=1322, X=3924.3

Y=481 (dx=-6.1e-02, do=-2.6e-01)
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=== (x=nan, g=nan)

calExp
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— Residual*s

== Trace
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pfsArm
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calExp
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s Residual*s
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Y=240 (dx=nan, do=nan)

f=1324, X=3911.7
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f=1325, X=3905.5

Y=240 (dx=nan, do=nan) Y=481 (dx=2.7e+00, do=nan) Y=722 (dx=3.1e-01, do=nan) Y=963 (dx=1.9e+00, do=nan)

pfsArm pfsArm 7 T pfsArm pfsArm T

=== (x=nan, o=nan) = (x=3911.89, 0=0.97) 1 = (x=3909.23, 0=1.13) === (x=3907.03, 0=1.05) 1
calExp calExp calExp calExp
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e Residual*5 e Residual*5 = Residual*5 =] m=== Residual*5
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